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Instructions to Candidate

* There are EIGHT questions divided in Two Sections.
* Candidate has to attempt FIVE questions in all.

*  Question No. 1 and 5 are compulsory and out of the remaining, three are to be attempted
choosing at least one question from each section.

*  The number of marks carried by a question/part is indicated against it.
*  Answers must be written in the mediom authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. Mo marks will be given for answers written in medium other than the authorized
one.

*  Word limit in questions, wherever specified, should be adhered to.

*  Attempts of questions shall be counted in chronological order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-Cum-Answer booklet must be clearly struck off.
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SECTION-A >
1. Answer the following questions in about 125 words each: (10 x 5 = 50)
| (a) Development is a dialogic process.
(b) O&M is not only a tool of structural reform but extends ‘beyond that.
(c) All administration is finance.
(d) "Budget is a series of goals with price tag attached."(Wildavasky)

()

ZBB, is however by no means as radical as the name implies, programs virtually are
never cut to zero.
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2. Answer the following questions:

(a) Roosevelt's conception of "government by good", prohibited the participation of civil
servants in politics. In this context identify the limitations on the political activities
of public servants and the need for depoliticized bureaucracy. (250 Words) (25)

(b) Whitleyism ensures a fair employer-employee relationship. Discuss. Also identify
the aspects of "Whitleyism "in the Indian context. (250 Words) (25)
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3. Answer the following questions:

(a) "Rank classification though simple leads to inequality within the cadres of personnel".
Discuss and analyze the problems encountered under this_system. Do you think

"lateral entry" is a right response to existent "generalism" in rank system.
: (250 Words) (25)

(b) Discuss the possible benefits of MIS under the overall impact of ICT in governance.
Illustrate by taking the examples like PRAGATI, AADHAR, etc how the big data
issue can be tackled with the use of ICT. (250 Words) (25)
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4. Answer the following questions:

(a) Differentiate between the "narrow" and "broad" conception of Development
Administration? Under which category the conception of DA falls in the Indian
context. Discuss. (200 Words) (20)]

(b) The intergovernmental financial relations have undergone several changes under the
impact of globalization and market reforms. In this scenario discuss the impact of
reforms like GST, FRBM and constitution of NITI Aayog in Indian context.

(300 Words) (30)
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SECTION-B
5. Answer the following questions in about 150 words ®ach: (10 x 5 = 50)

(a) Anti development thesis is a critical response to western dominance in not only the
theory but also in the practice of public administration.

(b) Budgets are political tools of social change.
(c) Public policy is a reflection of political will.

(d) "The emergence of public policy can be understood, in part, as political science's
effort to fill the vacuum left by public administration's departure."

(e) Policy science subsumes not only the policy process but also the policy makers,
lmplementers and beneficiaries.
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6. Answer the following questions: b

(@) Discuss the various models of policy under the "incrementalist paradigm". Is
incrementalism a reflection of conservatism, institutional inertia and an aversion to
novelty? 3 (200 Words) (20)

(b) With respect to policy process discuss the following: (10x3=30)
(i) Neo-institutional model.
(ii) Organized anarchy model.

(iii) Mixed scanning model.
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(a)

(b)

Answer the following questions:

"On a more sophisticated plane, rational choice is concerned with "Pareto -optimality",

or more exactly "pareto improvements ". Comment.

What would be the impact of "salacracy" and "prismatic” Characteristics on the
policy process in developing countries? How can the dysfunctionalities be eliminated

or minimized?

(250 Words) (25)

(250 Words) (25)
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8. Answer the following questions:

(@) Discuss "WEIDNER's" conception of Development Administration. Which of the
strategies provided by him would be more suitable to the socio-economic development
of the developing societies? (250 Words) (25)

(b) Gandhian model of humanism in development contrasts with the western model of
economism. Compare and contrast the epistemological difference within both the
approaches. ; (250 Words) (25)
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